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10-26. (46.4,48.5,50.4, 52.5, 55.9)
10-27. See below:
ax=8
= 1
b.x= %, -4

c. no solution
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10-28. See below:
a. If ¢ = number of cars and # = number of trucks, 2¢ + 37> 500, ¢ + 7 < 200
b. Yes, if they make no more than 100 cars.

10-29. The team president is using the mean, and the fans are using the median. A few large “outliers”, such as superstar players, have very high
salaries.

10-30. y = 1 (10
10-31. 36,910,080 beats per year

10-32. They are not on the same line; ’”AB:*%””BC:*%””AC:*%-




